Terrein CAN /CAR Saintes 24, 25 é 26 aot 2018
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Phazes Marathon Saintes 25 aolt 2018

CAN start A, km1, km2, pol, km3, km4, po2, km5, kmé6, km7, po3, 300m, finishB =.........

CAR start A, km1, km2, pol, km3, po2, km4, 300m, finish B = ........ m

start A
finish A

CAN**: start B, pol, po2, po3, 01, po4, po5, 02, po6, po7, O3 po8, po9, 04, pol0, poll, 05, pol2, pol3 06,
Finish B =

CAN*: start B, pol, po2, po3, 01, po4, po5, 02, po6, po7, 03, po8, po9, 04, pol0, poll, 06, finishB = ........ m

CAR : start B, pol, po2, po3, 01, po4, po5, 02, po6, po7, 03, po8, po9, 06, finish B = ........ m
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